Brophl8 melN, £tk gefl; ) kL deelN, Xe b
de-dim van vy, (Xaliy B3R 05373,
W) YTc{1~1, Keheer 1 ami

| mlH‘* hé(t\l (¥ {Xﬁ}ﬁ-lc i‘([E xﬂfrﬂ*& mw

) Xe—=Xn€ £2(B), E[X1-Xn) = EX0)-—EXd,
(2) wr(Z’,%:lXﬁ) = Z;L, nvar(Xg), (IRIBZ2ED)

@& Ee{L, M IH £ e >R 1= BERW-T Pl QD) N0 FE BASE X9 T N=lovEam,

T3¢k, (faKole BAE L,
@ %<IN, 7@(<n\a~'Y1=(X1;“‘;Xﬁ),z"=<XQ+1,--~,XN)
i, zoE{Y, Bl ki
D0 2 Re Ikl AeeBRI LB ) 5t
Al ML Agi=R% <. 2ace{Xela oMt
8 PLYeT, XeeAr) =F[Xt€AL~ XncAr]
= PXaeAd]- Pl A= Tleer PXec Al
i3z chvo b3 (Refl NI it Plechd=1, €R L),
@Q{Arlr, € BIR ¥3Y, Yell, ), (AN BRY
tpo, PIix) €A ¥ eA)
= PIXee A, XneHAn)
2= PR T AN~ PXn€ fi(A)
= [E[fl()(bé Al] P [Jcn(Xn) € Pm]
@) B1eB(RPY, B2 BR) (Dl ZH&}, D2= ZH,,&(L)
(L M1(By,Ba)=FTYeBy, ZeB2),
M2(By, Ba) =P YeBY [[Z€B2] ¥ ¥,
M= Mo EREE RN,
Joim 1 M(By,Ba), MalB1, Bo) ) B2 € BRP) LBETBY
B1eB(RP) 21, Bre BRPM L BR3¢ B2 B(R) (= 21\ 1)
SN =03, (O Thin2 10-DOZERR A BIAR )
Mvazé b2 f /ul(’/ B2) =/uz('/ B2).
@) B2 T, XT3, {Xalio oAt (2 5Y, M-, B2 ¢
Ma(s, Ba) 5 E3E MR Tpro b0l —ERLTUBZ v

Iy (P2 W0, OSIGIE (Ka Y g B e L),

1l M(RPLB2) = PLZ €Ba] = M2(R™ B2) < 0o 063,

55T Thintkb 59 O(Fo)) = B(RPY £ P4, B =/, B2y
(Woim)

Jaim3 YB1€ BRPY, M1(B, <) = Mo(Bye)

@ B1e BER®Y 93, aim2¥Y Palps, ) ¥ Ma(By,-) 1

%35k Fr. 0L TE-FRL, 1 RP2 id Lt

M2 2 YL, N=1 R RT3 3E v B ) > IR 93,
Yi= X1 Xneg XBK, § IRV RE g, Xn-)
=Ky X TG 3 BEE 0T Lommal 15 RS
BR)-7389 T&Y, T3¢ Y = { Ko, Xn-0) 00 T
Peopé:13-@,(3) = 39 {Y, Xy AR L 83,
R22 (#%) > ® FeR €3 47 18- Uemma 115 BRETH
B, S,R(S,le Berld) B () g E LD E YD
6320 EE I3 Thnk 12-@ = Y Yxne 7P,
E Ko~ Xnd =LY X = S (§7¥ Benldod) R )
420407 ELY T E[Xn) = EXJ - EXn].
SN 3R TR, I2ANE g T L,
@ £1° Yxe £XP), war()=E[X-EXH (<EET
(£[2, X & 22@) 135 X-EX)& £ o7 m:_z{oow%’w)
Ye = Xa—IE(Xe) ¢ 5<. Bropt 13-(2) 5 {Ye ) oy ot
5y, EDYR) =0, var(Xd=ENE] v 43,
(S X = B[S Xe—Em X =BT,

X,

(22 IY"Q)Z = ny;#\{é +2 Zl§i<'ﬁ§n\(?'f\(k“(4-")
B (R ZigicrenNRELD),
“ E[blé%&ér:(é\(ﬁ]=Zlgj<f<th\ﬁ]E[Yk]=0,
-1 Yelhoy € L2 195 18 @ 0B D ELVEER A
5 3E A3 040 { Yakao & L2 1318 () 3 20k A
H30 B3 Yo = 0o = T A, %

A5 pefo, ¢ ¥3. {01} Lo FEZERE Be(P)oroses
Be(P((0)) 1= 1-P, Be(P)({1) =P, (% PoBernalin®)
(>5) Be(®=B(,P).)

XA real v, X ~Be(P) o\ %,

EX])=0-(1-P+1P=P=EXD, ~orX)=Ex3-HX
=PL-P).

Flve Bl]@@‘»’%LU 5> Thnt 4= ¥) UCID,)'-I B3| 7, {Xefi, T xR 1 el nv’s T YRefLn) XenBel)

5380\ F3(30 01 {Xe)l 115753} T 174 58)

T Puler)=F2Cu ). fg,0n3)

@zt



Lain Si=Tg= X~ B(,P)
@ Yefo,—m),
Pls=Al= 2 Ple=stxe=o]=(F)Pa-p* .
ool (e = BOvIX{RDcan)
T3¢ BOLP) vt \F3 veal rv. o F#9, Indikrix
E(S]=Z 5 Bl =T, mr(s)ﬁ;—{—;zzﬂm)

=np(1~P).
Defé. 16 FEFE Lk o ERG o 4212 HE)
AneN =3 LdneN © XnlEdn-dim. v X33,
Xnfey * 283 (independer)
&y e N, {Xefemg b0 (Def10B ok OIEL

ThntAT (3 ZEZTHG OB7E)N €N Uoo) 33,
BTEN, NEN L, dneN L pn R o i 93,
2o 3( 00 P) FEFEE R, £t AneN,neN &
T LIKn! deedim v, X Mo 7{XT&;\\]=1 br ¥%L,
QD NeN o E: (=D Thm2.26% Thn3.28 ""“‘Fubiniﬂ)i
(Thon 8-1) 554 (RBZEA ZEPR 043 (1 Helc )
N= oo o (D Thn3.b5 ¥ Thm2 40 (1 D)

s, 5355 as. (GryAER L 220y

258 1< Rt 3eER (Bored-Cantelli 4B ) £523,

RO E PR E T3

Def&iR {Anjoe,c 2% =53

Sinsap A = (i, U Ax = fafifnicHochy

ﬁ}\'ﬂ}ﬁ An=U, ﬂof:;nAﬁ
={weq|s3HMBONLGIOL ONILOEA}

@A C F = g o, S Ane 7,

Thdd (Bord-CartelioARE) {Ankie, € F v 33,
WDy PlAN < 0 = F[lﬁﬂg}f Af‘]= 5
@Q{Ladn, MR T PlAd=c0

= Pl An=1.

Thnt. 11-@ 03 = Ko EAL IR LT 63!

Lommati20 {Prlney € [01) €3 20 %

L (1-R)(1-R) =0 & S Pa=0,

Q& Yxelo 1], 0 1-XS X BT, x=F - Fll

0 (1-R) (- epSfeife) 752 0,

S lan (-P0)-—-(1-R) = 0.

(=) o>+ Y3 NelN b B Ghis Btk e, freoo

63070 NeN|foL} WATRES ©F3, 9505
3NeEIN, YnzN, P é’%_- AR BLTERL,

2ok, %xelo3), €< 1-X vE3TERTIL

(ﬁ% 900 = 1-x —e~ A3 Jeo= 28" P %), 9I¥

(0302 v 84w, [FHog2, F) TR T30 T, k(0,5 5L
200 2 min{?(o), ?(11-)} = min‘{ol-%—'el-} =0,
mzN xdl exp-22 oy fe) S (-R)- (1R, .1
a1 P 2 Ty P 2 — 2 Aop(1-Ry - (-P) Fsee>ee.
51T Z:L‘LI = 0. %

Thmd:19 »ZE8R
Q) ke N TR UE olshosztt (DefhTofEaE) 1< 1,
Pl Jser Ad =P[R Uze A < P(UnZe An)
oS T E[A) = o P~ T A
7552 0 (@3, PIA<ed),
55T P[AnsspAn] =0 06,

Lt A =( N U2 = Unds M Ak =Tininf AT
5300 P[Anaf Av) =1 —P[AnsspAd =1-0=1,
@neNY T3 { Nt A € F - Lz o 0t dE B ho >
NEen(Ne=nAS) = N Af 507 Proplb-WiivfEiT,
[P[(Uf::n Aﬁ)c] B H:f\ fan A%]

erpL 0= i P Nen A
Lm0 L=0

Qe lody i Elln=ah— Pllae=0l
GiEE —— fin (1-PAG)- - (1—P[AL)
 Lomdk2d>=0, S PlUEAe)=1-0=1,

A1 {Ue2n Ae i € F & oL T 3p28h0 b7

N (U Ae) = Amsg An 1302, BN BropLb-ldlz Y

PUmepAn = b PUZoAd=dn1=1,




